


14.3 The Binomial Theorem !

Write your questions and
thoughts here!

Now
summarize
what you
learned!

Pascal’s Triangle
(T D= !
(1 nh= IR
(v D= mtrrroag!
(V1 D= rmtrrtrrrrtpoag!
(11 D= mtratrrtetr et ay!
rnts | Mtrrtrrett ettt et !
LI | .I !
1
Y
Looking at NIRRT,
just the IR RTTTERIAITIR
coefficients: iy
LAV RV R YT B NIR NINIY
!
0Co
Which 1 G
h 26 26 G
appens to c c c c
be the same S e
as: aCo  4C1 4G 4G 4G4
5C6 sC1 sC sC sCp s5GCs
!
EXAMPLES:
Find each term described.
1. The third term in the expansion (y+5)4 2. The third term in the expansion (2x-3)6

Expand completely.

3. (2+ 3y)4
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